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1D pull distribution
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1D pull distribution

—0.0002559 +0.1783

Mean

+0.1261

131

Std Dev

9.681/10
8.301+1.888
-0.01685 + 0.18583

Underflow
Overflow
X2 / ndf
Constant
Mean

1.139 +£0.199

Sigma

92.67 /53 hH

490.4

X2 / ndf

367.2

+

pO

pm4eX (ppb)

corr_usl b

g e e

10000




pm4eX RMS (ppm)

corr_usl b

(wdd) sy

v'v8cey
£v8cy
cv8ey
T'v8ey
0'v8ey
v'egey
£'esey
c'esey
T'esgey
0'egey
v'e8ey
€e8ey
c'esey
T'eser
0c8ey
'8¢y
€18ey
'8¢y
T18cy
0’182y
08¢y
€'08¢y
¢'08cy
T'08cy
0'08¢y
v'6ley
€6y
26ley
T'6Ley
0’62y
v'8Ley
€'8Ley
¢'8ley
T'8Ley
08¢y
viiey
€lley
clLiey
Tlley
o'Lley
v'oley
€92y
c9ley
T9Ley
0'9.¢y
v'aley
e€aley
c'sley
T'Sley
0'sley
geLey
celey
TeLey
o'eLey



corr_usl_bpmdeY (ppb)

X2 / ndf

1000 [—

500 —

pO

39.32/53
—9.849 + 44.94

K

-500

1000 —

—
—_—
—
—
—

1
0
0

N Ul D10 Ulps UIN

|
=

16

14

12

10

1D pull distribution

Mean -0.005726 +0.1161
__ Std Dev 0.8533 +0.08211
: Underflow 0
-_ Overflow 0
'_ X2 / ndf 3.606/5
: Constant 124 +£23
-— Mean  0.005797 + 0.130617
: Sigma 0.8768 +0.1219

0
8 6 4

-2 0 2 4

6 8




pm4eY RMS (ppm)

corr_usl b

____________ _
o o o o o o
~ © re} < ™ N

(wdd) sny

v'v8cey
£v8cy
cv8ey
T'v8ey
0'v8ey
v'egey
£'esey
c'esey
T'esgey
0'egey
v'e8ey
€e8ey
c'esey
T'eser
0c8ey
'8¢y
€18ey
'8¢y
T18cy
0’182y
08¢y
€'08¢y
¢'08cy
T'08cy
0'08¢y
v'6ley
€6y
26ley
T'6Ley
0’62y
v'8Ley
€'8Ley
¢'8ley
T'8Ley
08¢y
viiey
€lley
clLiey
Tlley
o'Lley
v'oley
€92y
c9ley
T9Ley
0'9.¢y
v'aley
e€aley
c'sley
T'Sley
0'sley
geLey
celey
TeLey
o'eLey



1D pull distribution

+0.1738

-0.0128

Mean

1.277 £0.1229

Std Dev

Underflow

Overflow

6.233/7

X2 / ndf

6.595 + 1.323

Constant

0.03677 +0.36579

1.841+0.478

88.06 /53 R

—38.33

X2 / ndf

31.11

+

pO

pm4aX (ppb)

corr_usl b

- cpcbcpcjcd-cjocjecl-cpobcbcgeqrclocfcpcbopododocjecjocbobobod-d-

+

-200

-400

-600

o
[}
®

[=}
=}
=}
—




pm4aX RMS (ppm)

corr_usl b

________
Ty)
<

(wdd) sny

____
o
<

Lo
™

v'v8cey
£v8cy
cv8ey
T'v8ey
0'v8ey
v'egey
£'esey
c'esey
T'esgey
0'egey
v'e8ey
€e8ey
c'esey
T'eser
0c8ey
'8¢y
€18ey
'8¢y
T18cy
0’182y
08¢y
€'08¢y
¢'08cy
T'08cy
0'08¢y
v'6ley
€6y
26ley
T'6Ley
0’62y
v'8Ley
€'8Ley
¢'8ley
T'8Ley
08¢y
viiey
€lley
clLiey
Tlley
o'Lley
v'oley
€92y
c9ley
T9Ley
0'9.¢y
v'aley
e€aley
c'sley
T'Sley
0'sley
geLey
celey
TeLey
o'eLey



8 § °© ° ~ 2 g @
58 s % g 2
= S N o 2 <
+ + <~ S e © -
~ > = H Q ]
g 8 3 5 ]
: - : -
s s .
H = -
3 2 m k=1 m ©
clsg & 8 § ¥ ¢z 5 ¢
o s B 5 S %« 8 2 &
= =
=1 —]
o -
s ]
2 ]
© -
= -
o —]
o
-
T | TR | MR R | T ! 7
N o © © o
- ~
[ — —
— —
™M © — —
0 o — —
~ © — —
0 o — —
N~ + —_——— —]
1m —— —
O [e0] —_—— —
& N Pom— .
— ———— —
2 —_— —
— —
—— —
— —
S = -
c —_— —
———— —
T —t— .
—_— —
m < Q] o1 ]
o —— —
o —e—1 —
~ — — 1
> —— —
© —_e—— —
4 —— —_
m —_—— —
o — —
o] —_—— —
i N I — 3
7] ——— —
> ——— —
a —e—— —
S —_—— —
o ——— —
O —t . -
—— —
— —
—_— —
——— —
——— —
—— —
—+—— —
—_—— —
L — —
— —
— S—— —
—— —_
— —
——— —
— —




pm4aY RMS (ppm)

corr_usl b

v'v8cey
£v8cy
cv8ey
T'v8ey
0'v8ey
v'egey
£'esey
c'esey
T'esgey
0'egey
v'e8ey
€e8ey
c'esey
T'eser
0c8ey
'8¢y
€18ey
'8¢y
T18cy
0’182y
08¢y
€'08¢y
¢'08cy
T'08cy
0'08¢y
v'6ley
€6y
26ley
T'6Ley
0’62y
v'8Ley
€'8Ley
¢'8ley
T'8Ley
08¢y
viiey
€lley
clLiey
Tlley
o'Lley
v'oley
€92y
c9ley
T9Ley
0'9.¢y
pv'SLey
e€aley
c'sley
T'Sley
0'sley
geLey
celey
TeLey
o'eLey

100—

(wdd) sy



© © o o o 9 o I
§ ¢ = 8 % 7
3 8 w o ® 39
e <o s 4 o
s o 2 o o 3 -
+ + M+_1 n
§ 5 R ]
a0 @ o o —
g 3 g ]
n,v. -
H = -
wmmwm © —
clsg & 8 § ¥ ¢z 5 ¢ ]
|2 & 5 &8 = 8 2 &
3
e} ; =
= -
- T -
X7 — 3
© -
= =
o
o
- -
PN I T W BT TR | | NI BT BT
© < N o < N o
— — - -
I
™M~ e
~ ©
AN ™M
Mi
a M
™
Lo
N
— e
Y—
©
c
e
~
— ——
NP =}
<
—~
o)
[oX
o
~
X
E
Q.
o —_———
|
[2)
=)
a
—
o
(&)
—_—
— ——
—
_____________
o o o o o
o o o o o
o o o o o
@ © < « Y




pm1X RMS (ppm)

corr_usl b

©

_______
0 O
4
N N

(wdd) sy

v'v8cey
£v8cy
cv8ey
T'v8ey
0'v8ey
v'egey
£'esey
c'esey
T'esgey
0'egey
v'e8ey
€e8ey
c'esey
T'eser
0c8ey
'8¢y
€18ey
'8¢y
T18cy
0’182y
08¢y
€'08¢y
¢'08cy
T'08cy
0'08¢y
v'6ley
€6y
26ley
T'6Ley
0’62y
v'8Ley
€'8Ley
¢'8ley
T'8Ley
08¢y
viiey
€lley
clLiey
Tlley
o'Lley
v'oley
€92y
c9ley
T9Ley
0'9.¢y
v'aley
e€aley
c'sley
T'Sley
0'sley
geLey
celey
TeLey
o'eLey



£l ~ S} S} o 1_ 0 <
wn -~
s 3 s % 3 3
© o 3 ® =] IS
+H + « + + 7
s < ® I N
= ~ < .
g g 38 -
=} ? ° ]
- & 3z . ¢ ]
[ 5] K] k] 8 © —]
5 [a} 5] T c @ H g
c 3} o B e 5 5] 1= ]
o s » S ¢} x 0 = o E
=
>
b —
= ]
= -
2 f ]
ko] [ — 1 -
=1 -
o
(@)
— S
il IR B R | i BRI Lyvw by v by
o [ee] © < N o © < N o
N ~ — - — -
I
™M O
0 «
M._s
——
O.+_
75 —_——
N
o™ ——
i
Y—
©
c
~
*<2
—| ——
o)
[oX
o
~
> ——
E
Q.
o)
|
2] ——
=)
a
s ——
8 ——
——
———
———
—_——
——
| 1 L1 11 ] ]
o o o o
o (= o
o Yol Tel
- 1




pmlY RMS (ppm)

corr_usl b

(wdd) sny

v'v8cey
£v8cy
cv8ey
T'v8ey
0'v8ey
v'egey
£'esey
c'esey
T'esgey
0'egey
v'e8ey
€e8ey
c'esey
T'eser
0c8ey
'8¢y
€18ey
'8¢y
T18cy
0’182y
08¢y
€'08¢y
¢'08cy
T'08cy
0'08¢y
v'6ley
€6y
26ley
T'6Ley
0’62y
v'8Ley
€'8Ley
¢'8ley
T'8Ley
08¢y
viiey
€lley
clLiey
Tlley
o'Lley
v'oley
€92y
c9ley
T9Ley
0'9.¢y
v'aley
e€aley
c'sley
T'Sley
0'sley
geLey
celey
TeLey
o'eLey



8 Q © © 2 8 8 4
- g 3 & 3
+ + < 8 o & -
i3 S g ]
g - g ]
<) 8 —]
2 -
3 -
z o -
< m m m E m < g
c g = = 2 8
s|¢ &8 5 & <« & & 2
= A
5 —]
o -
= -
= -
2 ]
ho) -~
=1 -
o —]
o
-
| ! | | ! 7
< N o © o
- — -
I
<3
N~
NIO_+_
—_———
@
i
<
N
———
Y—
©
c
—_———
~
—
NP =}
—~[>X< Q]
o)
Q.
o —_—
~
x —_—
o
—
Q.
b_
K%
j}
—_———
a
_ —_——
o
o —_——
——
—
——
———
———
——
—_—
—.———
——
——
—
——
—lo—
——
—_——
] | 1 _ ] TT.Iﬁ|.I.__
8 8 8 © 8 8
o o o o o
© < « I <




pm16X RMS (ppm)

corr_usl b

____
o
©
—

(wdd) sy

v'v8cey
£v8cy
cv8ey
T'v8ey
0'v8ey
v'egey
£'esey
c'esey
T'esgey
0'egey
v'e8ey
€e8ey
c'esey
T'eser
0c8ey
'8¢y
€18ey
'8¢y
T18cy
0’182y
08¢y
€'08¢y
¢'08cy
T'08cy
0'08¢y
v'6ley
€6y
26ley
T'6Ley
0’62y
v'8Ley
€'8Ley
¢'8ley
T'8Ley
08¢y
viiey
€lley
clLiey
Tlley
o'Lley
v'oley
€92y
c9ley
T9Ley
0'9.¢y
v'aley
e€aley
c'sley
T'Sley
0'sley
geLey
celey
TeLey
o'eLey



o~ < S} o © Q < T}
s 38 3 & g &
= = X i N =]
o [S] N + © + -
+ H < ~ H P ]
3R Y @ ]
5 < LY ] — —
8 = y
S ? 7]
S . 3 =z _ ]
) T 2 k=1 8 ]
S a 5] 5] c @ s £
c i} ] B < ~ S i} k=)
o = 4] =) o < () = n -
= =
=1 —]
b -
.m ]
2] -
S < ]
= -
o =]
o ]
- .
PR TR SN N SN SN TN NN SN TN T (N TN TN T NN SR T S N S SR S
o © © < N o
—
I — —
— —— —
oM <
- ——— —]
O~ .
s —  o— 1 -
~ 0|.|. —
% ™ —_—— —
| —_—————— —
o o — S ]
Ol—e— —
(@] — —
1o —_—— —
ﬁU. —_— -
o —_—— —
1 — e
— ——— —
Y— —— —_
S —t—— -
< —_———— —
~ —_——— —
o O — e _
—~| X<
o) —_— —
o —_— —
o —_—— —
~ ——— —
VI — —
O — —
— — —— —]
e — o1 —
o [ — —
b_ — o1 —
—— —
7] — ————i —
5 —_— —
r_ ———— —_
S —_—— —
(@] — —
O N -
— —
—_— —
——— —
——— —
—_—— —
—— —
—leo— —
—_———— —
— —
———i —
——— —
—— —
—— —
- —
— —
_ 111 _ 111 _ Iy Ly
g 8 8 8 8 8 g grnTuontioy
8 8 § W § § © 8



pm16Y RMS (ppm)

corr_usl b

11 ____________________+

___________
Lo o
T} Ty}

(wdd) sny

Lo o
< <

Lo
™

o
™

Lo
N

o
N

Lo
—

o
—

v'v8cey
£v8cy
cv8ey
T'v8ey
0'v8ey
v'egey
£'esey
c'esey
T'esgey
0'egey
v'e8ey
€e8ey
c'esey
T'eser
0c8ey
'8¢y
€18ey
'8¢y
T18cy
0’182y
08¢y
€'08¢y
¢'08cy
T'08cy
0'08¢y
v'6ley
€6y
26ley
T'6Ley
0’62y
v'8Ley
€'8Ley
¢'8ley
T'8Ley
08¢y
viiey
€lley
clLiey
Tlley
o'Lley
v'oley
€92y
c9ley
T9Ley
0'9.¢y
v'aley
e€aley
c'sley
T'Sley
0'sley
geLey
celey
TeLey
o'eLey



3000

2000

1000

1000

2000

corr_usl_bpm12X (ppb)
X2 / ndf

37.58 /53

pO —-93.42 + 155.7

1D pull distribution

Mean —0.003003 +0.1135
12 Std Dev 0.8342 +0.08027
i Underflow
B Overflow
10
o X2 I ndf 1.044/5
- Constant 12.81+2.22
8_
Mean -0.02231+ 0.13265
B Sigma 0.8935 + 0.1060
6
4 1 i
o
O|||||||| ||II|III| I
-8 -6 -4 -2 0 2 4 6 8




pm12X RMS (ppm)

corr_usl b

(wdd) sy

v'v8cey
£v8cy
cv8ey
T'v8ey
0'v8ey
v'egey
£'esey
c'esey
T'esgey
0'egey
v'e8ey
€e8ey
c'esey
T'eser
0c8ey
'8¢y
€18ey
'8¢y
T18cy
0’182y
08¢y
€'08¢y
¢'08cy
T'08cy
0'08¢y
v'6ley
€6y
26ley
T'6Ley
0’62y
v'8Ley
€'8Ley
¢'8ley
T'8Ley
08¢y
viiey
€lley
clLiey
Tlley
o'Lley
v'oley
€92y
c9ley
T9Ley
0'9.¢y
v'aley
e€aley
c'sley
T'Sley
0'sley
geLey
celey
TeLey
o'eLey



f=] ~ o o o o < ~
g 3 3 8 § &
S bl Q — N =}
T © . H © H .
H + © + ~ ]
o (o2} < o (]
2 @ N -
N “ ~ S - —_
¢ i ]
- & 3z . ¢
@ = 2 k=1 8 ]
§ S € ® S & § € A
c ] = c > ~ S o} k=J
o = 4] =) o < () = n =
5 —
e -
= -
=1 -
R ]
© -
= -
=% | I
(@) =
i =
1 L L L [T
S o~ [S)
L —t v sem e me s e
m _
< ]
-~ N —
om Y ]
< +H -
= -
(¢9] —
o —
i —
| —
= -
© _
n p—
-~ ]
O ]
—~|>X
o) —
Q. —
o —
N—r 1
Y —
o —
— —
Q. —
b_ —— —
) —
>S5 —
r_ ]
= —
o —
o —




pm12Y RMS (ppm)

corr_usl b

— v'v8cy
— €8y
— ¢'v8cy
— T'v8¢v
— 0'v8cv
— '€8cY
— €'e8ey
— ¢'€8ev
— T'eser
— 0'€8ev
— v'28cy
— €'¢8ev
— 2¢'z8ey
— T'¢8ev
— 0'Z8ey
— v'18¢v
— €'18¢Y
— ¢'18¢v
— 1’182V
— 0'18¢y
— ¥'08¢y
— €'08¢¥
— ¢'08¢v
— T°08¢v
— 0°08¢¥
— v'6Lcy
— €'6Lcv
— ¢'6Ley
— T'6lcv
— 0'6L2Y
— v'8Lcv
— €'8Levy
— ¢'8Lev
— T'8Lcv
— 0'8Lcev
— v'LLeY
— €'LLey
— ¢'LLey
— T'llev
— 0'LLey
— v'9Lcv
— €'9Lcv
— 2'9Lcev
— 192y
— 0'9Lev
— v'SLev
— €'SLev
— ¢'SLev
— T'Slev
— 0'SLev
— €€l
— ¢'€Ley

TeLey
o'eLey

(wdd) sny



8000

6000

4000

2000

2000

4000

6000

8000

10000

corr_usl_bpm11X (ppb)
X2 / ndf 81.31/53

pO —365 * 264.4

—_—
L
—
——
—
—H—e——

1D pull distribution

_ Mean  -0.009349 + 0.167
I Std Dev 1.227 +0.1181
10 Underflow 0
Overflow 0
o X2/ ndf 9.289/8
8 —
| Constant 9.978 £ 2.275
B Mean 0.1292 +0.1574
6 _ Sigma 0.9582 +0.1718
=
2 —
0 L1l | Ll | 111 | 111 | 1 L1l | Ll
-8 -6 -4 -2 0 2 4 6 8




pm11X RMS (ppm)

corr_usl b

____
o
re}

QY

(wdd) sy

2000 |

v'v8cey
£v8cy
cv8ey
T'v8ey
0'v8ey
v'egey
£'esey
c'esey
T'esgey
0'egey
v'e8ey
€e8ey
c'esey
T'eser
0c8ey
'8¢y
€18ey
'8¢y
T18cy
0’182y
08¢y
€'08¢y
¢'08cy
T'08cy
0'08¢y
v'6ley
€6y
26ley
T'6Ley
0’62y
v'8Ley
€'8Ley
¢'8ley
T'8Ley
08¢y
viiey
€lley
clLiey
Tlley
o'Lley
v'oley
€92y
c9ley
T9Ley
0'9.¢y
v'aley
e€aley
c'sley
T'Sley
0'sley
geLey
celey
TeLey
o'eLey



g 8 ° ° I 8§ =z o
(=l T
-~ [ - S =
s 9 s » 2 o
2 ]
. 4%..1% ]
g 5 S 3 B
©  n < © 7
s 5 g o -]
s ° E :
vmw € -1
» T & B 8 © —
c|l§ 5 8 % £ ¢ § E B
|2 & 5 &8 = 8 2 & E
=
=]
b =
= 1
b= u
2 —ere— —]
° 1 u
= _|
=%
o a
- [ —
P [T R T T T T T T T L L M B
© < o N o
- - -
I
™M 0
~ N
—
L0+
o <
™M O
© —e———
N
|
—
G—
© ————
e
~
N =]
—~|>X
o)
o
o
N
>
—
— —————
o
o]
_
)]
=]
a
S
o
(&)
__________ _ _
o o o o o o o
=] S S =3 S S
T 8 § 5§ © @




pml1llY RMS (ppm)

corr_usl b

__________________I_

5 0 5
™ ™ N

(wdd) sny

(@] 0 o Lo
N — —

v'v8cey
£v8cy
cv8ey
T'v8ey
0'v8ey
v'egey
£'esey
c'esey
T'esgey
0'egey
v'e8ey
€e8ey
c'esey
T'eser
0c8ey
'8¢y
€18ey
'8¢y
T18cy
0’182y
08¢y
€'08¢y
¢'08cy
T'08cy
0'08¢y
v'6ley
€6y
26ley
T'6Ley
0’62y
v'8Ley
€'8Ley
¢'8ley
T'8Ley
08¢y
viiey
€lley
clLiey
Tlley
o'Lley
v'oley
€92y
c9ley
T9Ley
0'9.¢y
v'aley
e€aley
c'sley
T'Sley
0'sley
geLey
celey
TeLey
o'eLey



1D pull distribution

pm8X (ppb)

corr_usl b

o o o o o % nrww w
S o g8
+ + 7 A = ﬂ o]
© © 3 H + y ]
s 3 5 ]
“ g 3 ° — o©
o -
: ¢ %2 s G ]
s 5 ¢ 3 2 & 5 ¢ =
53 h=] 2 S 3 5 o > ]
= ] =] [e] =< o = 0 -1
— N
7
o
o
b Y
7
—¢
T NS NS NRRE S SN
o o [=] o o o
[T2) < ™ N —

I ——— — v v8er
< ——— — -Jev8ey
o B — — Jevezy

— — —I'v8ey
~ N —_— — -Hovszy
(@R ——— — -resey

+ ———— — —eesey
— — -eesey
o —_— — —r'esey
——— — Hoeser
———— — -resey

——— — -e'esey

—_— — -eesey

——— — 1282y

e — -o'zszy
e —_— — -r'18ey
© ————— — He'182y
< ———— — Je18ey
~ ———— — U182y
N = —_— — -Ho'18zv
< o —— — -r'oszy

——— — -e08zy

— — -z oszy

e — —r°082

— — ~o'oszy

—_— — -reLzy

— — He6L2r

———— — He6L2r

—_— — 6.2y

— — -JoeLzy

——— — -rsLey

———— — —He'8Ley

— — He8ley

——— — qr'8Ley

———— — -o'sszy

——— — dviiey

— — e 222y

—_— — Jeiiey

——— — qLley

— — o222y

——— — rasey

— — —e9szy

——— — He9Ley

———— — —Hr'oLey

———— — Ho'azzy

—— — rsiey

——— — Je'siey

———— — Hesiey

. — —r'sley

—_—— — Ho'szzy

— Hoviey

——— — —HeeLey

e — HeeLey

——— — qreLey

_____________.._I.I.I.u.r.l.l.l...____________._ll HoeLey
o o o o o o o 0 O < N O
§ & 8 S §&§ & oSooo



pm8X RMS (ppm)

corr_usl b

p '8
p V8l
XAg:rad
T 8y
p 0821
P 7°E8CY
pEE8CY
pcesey
p1ESCY
p0°€E8CY
p 'c8er
pEC8ey
p cc8er
EAtad
p0'c8er
p 1821
pE18CH
p 1821
p1 18y
p 01821
p 08¢t
p €082
pC'08cr
p1'08CY
p 0'08CY
pv'6L2Y
pE6LCY
pc6ler
T '6.2Y
p06Ler
pv'8LCY
pE8LCY
pc8ley
p1'8LCY
p0'8LCY
pv'LLey
peLley
pclley
T LL2Y
pO°LLey
pv'9L2h
pc9Ley
pcoLey
AR TRA4
p0'9LCY
pv'SLcy
peGler
pcGley
p1'SLCy
pO'SLeY
pO'vicy
peeLer
pceler
pT'CLCY
poELer

QA el dddddddddddddddddddddddddddddddddddddddddddddidd

(wdd) siny

0



1D pull distribution

Mean

Std Dev
Underflow

Overflow

3.941e-12/0

X2/ ndf

71.54 + 143.83

Constant

0.4487 + 0.6935

Mean

0.251+ 1.257

Sigma

|

J .LI...I...I...

0III|III|III|II
-5

0/54 hH
+9.998

0

X2 / ndf

pm8Y (ppb)

corr_usl b

| S N I T N Y T [ Y I S N N Y Y S Y Y [N [ N [ [ N S Y Y Y S T Y S [ S T [ N N I A | i
ERRENERER RINREKNEE oY OTTN® > TN OO SO NMIO TN MY O TN
WLV L O NN 0o oD Soocodd daN AN oSS S
NN NI NN N NSNS NS [N N NN N N % 0 o L 0000 P 000X 000X o
NN RN NENENESE N NSRS NRNEN [N ENENE ENEN] NN NN aadaaagaYaaaNNN
AR R LA AR SV B AR A N ¥ R A

—
14

11 1 1
TANMO
Qoos
NSNS~
S RNENEN
IR

e e ey

=
I
~
o
<




pm8Y RMS (ppm)

corr_usl b

p '8
p V8l
XAg:rad
T 8y
p 0821
P 7°E8CY
pEE8CY
pcesey
p1ESCY
p0°€E8CY
p 'c8er
pEC8ey
p cc8er
EAtad
p0'c8er
p 1821
pE18CH
p 1821
p1 18y
p 01821
p 08¢t
p €082
pC'08cr
p1'08CY
p 0'08CY
pv'6L2Y
pE6LCY
pc6ler
T '6.2Y
p06Ler
pv'8LCY
pE8LCY
pc8ley
p1'8LCY
p0'8LCY
pv'LLey
peLley
pclley
T LL2Y
pO°LLey
pv'9L2h
pc9Ley
pcoLey
AR TRA4
p0'9LCY
pv'SLcy
peGler
pcGley
p1'SLCy
pO'SLeY
pO'vicy
peeLer
pceler
pT'CLCY
poELer

QA el dddddddddddddddddddddddddddddddddddddddddddddidd

(wdd) siny

0



corr_usr_bpmd4eX (ppb)

6000

4000

—

X2 / ndf
p0

—257.8 + 266.7

—

2000 l
AR
l

l

JIREEIE
i

6000

!

—
—

16

14

12

10

1D pull distribution

CJOO

Mean —-0.001236 +0.1157
Std Dev 0.85 +0.08179
Underflow 0
Overflow 0
X2 I ndf 5.19/5
Constant 142 +33
Mean -0.0132 £0.1133
Sigma 0.7333 £0.1396
ol
4 6 8




pm4eX RMS (ppm)

corr_usr_b

(wdd) sy

v'v8cey
£v8cy
cv8ey
T'v8ey
0'v8ey
v'egey
£'esey
c'esey
T'esgey
0'egey
v'e8ey
€e8ey
c'esey
T'eser
0c8ey
'8¢y
€18ey
'8¢y
T18cy
0’182y
08¢y
€'08¢y
¢'08cy
T'08cy
0'08¢y
v'6ley
€6y
26ley
T'6Ley
0’62y
v'8Ley
€'8Ley
¢'8ley
T'8Ley
08¢y
viiey
€lley
clLiey
Tlley
o'Lley
v'oley
€92y
c9ley
T9Ley
0'9.¢y
v'aley
e€aley
c'sley
T'Sley
0'sley
geLey
celey
TeLey
o'eLey



1000

500

-500

corr_usr_bpmdeY (ppb)

X2 / ndf
p0

35.04 /53
29.14 + 43.34

. 4 er- .- .

Y -r LEEERY -

Er

1D pull distribution

Mean  0.008227 + 0.1096

14

12

Std Dev  0.8055 + 0.07751
Underflow 0
Overflow 0
X2 / ndf 5.233/5
101 1 Constant 13.02 £ 2.89

Mean 0.1391+ 0.1394

Sigma 0.8032 + 0.1446

6 4 2 0 2 4 6 8



pm4eY RMS (ppm)

corr_usr_b

O 0 O 0 O
N~ © Lo <t ™

(wdd) sny

(@]
N

10

v'v8cey
£v8cy
cv8ey
T'v8ey
0'v8ey
v'egey
£'esey
c'esey
T'esgey
0'egey
v'e8ey
€e8ey
c'esey
T'eser
0c8ey
'8¢y
€18ey
'8¢y
T18cy
0’182y
08¢y
€'08¢y
¢'08cy
T'08cy
0'08¢y
v'6ley
€6y
26ley
T'6Ley
0’62y
v'8Ley
€'8Ley
¢'8ley
T'8Ley
08¢y
viiey
€lley
clLiey
Tlley
o'Lley
v'oley
€92y
c9ley
T9Ley
0'9.¢y
v'aley
e€aley
c'sley
T'Sley
0'sley
geLey
celey
TeLey
o'eLey



600

8§ g ° ° ¥ 3 3 ¢g
g g g 7 & 8
S S b} ~ = < |
H H o e + ©
g 3 & 5 8 N
Q 5 R < ]
=3 M % o —
S 3 i
> m H - € -
o £ o <] s © —
c|§ 5 ¢ % §E & § E ]
3 1)
|2 & 5 &8 = 8 2 & g
w a
2 =
= ~1
= a
0 — T —
o i
m
o u
(@) n
i .
IR B [ | ' I NS S S N N
< N o © © < © < [ o
~ N 3% - - -
[
[sp 2]
n O
~ o
Moo
A
95
N~
(o))
—
©
c
~
=<3
—~|
QO
Q.
o
~
©
E
o
O
r_
(%2}
=)
u
=
o
(&)




pm4aX RMS (ppm)

corr_usr_b

(wdd) sny

v'v8cey
£v8cy
cv8ey
T'v8ey
0'v8ey
v'egey
£'esey
c'esey
T'esgey
0'egey
v'e8ey
€e8ey
c'esey
T'eser
0c8ey
'8¢y
€18ey
'8¢y
T18cy
0’182y
08¢y
€'08¢y
¢'08cy
T'08cy
0'08¢y
v'6ley
€6y
26ley
T'6Ley
0’62y
v'8Ley
€'8Ley
¢'8ley
T'8Ley
08¢y
viiey
€lley
clLiey
Tlley
o'Lley
v'oley
€92y
c9ley
T9Ley
0'9.¢y
v'aley
e€aley
c'sley
T'Sley
0'sley
geLey
celey
TeLey
o'eLey



corr_usr_bpmd4aY (ppb) 1D pull distribution

2000 X2 / ndf 90.93/53 H
- Mean —0.004269 + 0.1766
= pO -56.4 + 64.62 i
1500 |— B Std Dev 1.298 +0.1249
: - Underfloy 0
1000 — 10 "
— I Overflow 0
500 — }
= - X2/ ndf 9611/8
C sl
0 ] ] - ] T [ T I I I l | Constant 6.625 +1.428
1 l
B Mean -0.1435 +0.2774
-500 L
s Sigma 1518 £0.321
1000 |- -
1500 — r
= ar
2000 — i
e e e e e -
2 S
0 lllll -
-1 |
-2 0|||| i b b bl i
8 6 4 =2 0 2 4 6 8



pm4aY RMS (ppm)

corr_usr_b

(wdd) sy

100—

v'v8cey
£v8cy
cv8ey
T'v8ey
0'v8ey
v'egey
£'esey
c'esey
T'esgey
0'egey
v'e8ey
€e8ey
c'esey
T'eser
0c8ey
'8¢y
€18ey
'8¢y
T18cy
0’182y
08¢y
€'08¢y
¢'08cy
T'08cy
0'08¢y
v'6ley
€6y
26ley
T'6Ley
0’62y
v'8Ley
€'8Ley
¢'8ley
T'8Ley
08¢y
viiey
€lley
clLiey
Tlley
o'Lley
v'oley
€92y
c9ley
T9Ley
0'9.¢y
v'aley
e€aley
c'sley
T'Sley
0'sley
geLey
celey
TeLey
o'eLey



1D pull distribution

+0.0827

0.00197

Mean

+0.05848

0.6077

Std Dev

Underflow

Overflow

3.11/3

X2 / ndf

18.06 + 3.86

Constant

-0.05386 + 0.08749

Mean

0.5982 + 0.0971

Sigma

|

R

OIII

19.95/53 H
+127.2

—43.29

X2 / ndf
0

p

pm1X (ppb)

corr_usr_b

- cpcbcpcjcd-cjocjecl-cpobcbcdeqrclocfecpcbopododocjecjocbobobod-d-

e e

2000

1000

1000

2000




pm1X RMS (ppm)

corr_usr_b

______________ _____________________H

o o o o o o o (@]
(e} (e} N~ © Lo <t ™ N

(wdd) sny

v'v8cey
£v8cy
cv8ey
T'v8ey
0'v8ey
v'egey
£'esey
c'esey
T'esgey
0'egey
v'e8ey
€e8ey
c'esey
T'eser
0c8ey
'8¢y
€18ey
'8¢y
T18cy
0’182y
08¢y
€'08¢y
¢'08cy
T'08cy
0'08¢y
v'6ley
€6y
26ley
T'6Ley
0’62y
v'8Ley
€'8Ley
¢'8ley
T'8Ley
08¢y
viiey
€lley
clLiey
Tlley
o'Lley
v'oley
€92y
c9ley
T9Ley
0'9.¢y
v'aley
e€aley
c'sley
T'Sley
0'sley
geLey
celey
TeLey
o'eLey



1D pull distribution

X2 / ndf

pm1Y (ppb)

corr_usr_b

g 8 ° ° = 8 8§ g
3 g ER - S
° 3 o - g S ©
5 c 8 g & < .
S ~ N + & |
g 8 g8 ]
§ ° g ° — ©
! ]
, 7
5 _ 7
< m m m g m < g i
g 5 E g 3 5 g 5 ]
= 2] =] <] > o = 12} -]
U N
T 7
_ —_— e
="
7
—¢
PP I B I IR IS IFPF I IFAFP IV IS S )
N o [ee) © < N o [ee] © < N o
~N N — - — - —
[ = EY ERER SRR vv8ey
— S BN -Hevazy
% M — -H{eveey
. — rv8ey
~m — -ov8er
N N — Hr-esey
4 — -He-esey
95 . T
N — -Ho-eszy
< — -resey
N — He-e8ey
I — He-eser
— i K4:144
— -Ho-zszy
— -{r-18ey
— -He18ey
— -He-18ey
— r18ey
w. — Ho18zy
— -{v-oszy
— -e-oszy
— -z o8zy
— -roszy
— -Ho-oszy
——— — 6Ly
— Heezy
— HeeLey
— -freLey
——1— — -Hoeey
——— — -{rszey
——— — -HesLey
—t—— — Heszey
——— — fraLey
————— — -Hoszzy
——— — Arzzey
— — -Hezzey
e — JdeLLey
————— — -ArLrey
————
———— —Se-
————
—_— —
———— —
—le——— —
— —
————— — -
— — -
———— — -
—_— — -
——— — -
—te—— — -
______T.I..H_”ﬂ_._|_.________T_.1__ e
8 8 © ] 8 ] N T o gy
SR § § 3



pm1lY RMS (ppm)

corr_usr_b

(wdd) sny

v'v8cey
£v8cy
cv8ey
T'v8ey
0'v8ey
v'egey
£'esey
c'esey
T'esgey
0'egey
v'e8ey
€e8ey
c'esey
T'eser
0c8ey
'8¢y
€18ey
'8¢y
T18cy
0’182y
08¢y
€'08¢y
¢'08cy
T'08cy
0'08¢y
v'6ley
€6y
26ley
T'6Ley
0’62y
v'8Ley
€'8Ley
¢'8ley
T'8Ley
08¢y
viiey
€lley
clLiey
Tlley
o'Lley
v'oley
€92y
c9ley
T9Ley
0'9.¢y
v'aley
e€aley
c'sley
T'Sley
0'sley
geLey
celey
TeLey
o'eLey



by ° o o g & g
g 5 g © I §
<] =] © +H o o oo}
+ S ~ 4 + + —
3 H 3 2 ~ ]
g & - 8 B ]
g 3 ¢ ° i
< .
> 3 H - = 1
c|ls & & 5§ % g g ¢ -~
ol & 5 & =« 8§ 2 8
=}
= N
o) -
2 : E
- -
@ s
© -
= -
& =K
)
—
=7
—¢
M| PR B R T T B R T N R A A __________lom
[{e} < N o [ee] © < N o
- - - -
I
M N ———
19
<9
0
M+_
—_—
< ¥
)
™
-
I
—eo——
—
©
c
—_—
~
—_———
<3
|
=)
o
o e
N—r
X
©
—
S (D —
o] ————
r_ ———
[72]
>
u
— —_——
o
[&]
—_——
—_———
—
€LY
- N RVXA4
b b ____________I::r_:_L_:__ﬁ__z_r:o.&ﬁ
o
8 8 g 8 ] 8 NN T o g
15 Q 2 S < 5



pm16X RMS (ppm)

corr_usr_b

__________ __________________ _________________
o o ©O o o o o 9o o

0
2 1_ O 9 8 _/ 6 5 4 3
— i i

(wdd) sy

v'v8cey
£v8cy
cv8ey
T'v8ey
0'v8ey
v'egey
£'esey
c'esey
T'esgey
0'egey
v'e8ey
€e8ey
c'esey
T'eser
0c8ey
'8¢y
€18ey
'8¢y
T18cy
0’182y
08¢y
€'08¢y
¢'08cy
T'08cy
0'08¢y
v'6ley
€6y
26ley
T'6Ley
0’62y
v'8Ley
€'8Ley
¢'8ley
T'8Ley
08¢y
viiey
€lley
clLiey
Tlley
o'Lley
v'oley
€92y
c9ley
T9Ley
0'9.¢y
v'aley
e€aley
c'sley
T'Sley
0'sley
geLey
celey
TeLey
o'eLey



1D pull distribution
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1D pull distribution
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1D pull distribution
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1D pull distribution
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